2nd Grade Module 5:  Addition and Subtraction within 1,000 with Word Problems to 100
 Algorithm   -a step-by-step procedure to solve a particular type of problem
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Compensation -simplifying strategy where students add or subtract the same amount to or from both numbers to create an equivalent but easier problem
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example:
                 34-19=    
(simplify) 35-20= 15           tape diagram
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Compose (e.g., to make 1 larger unit from 10 smaller units) 
Decompose (e.g., to break 1 larger unit into 10 smaller units) 
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Simplifying strategy
 (e.g., to solve 299 + 6, think 299 + 1 + 5 = 300 + 5 = 305.) 

Commutative property of addition- If  8 + 3 = 11 is known, then 3 + 8 = 11 
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 Associative property of addition- To add 2 + 6 + 4, the second two numbers can be added to make a ten, so 2 + 6 + 4 = 2 + 10 = 12
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Strategies to solve problems:
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Vertical method





Unbundling 





Tape diagram





Hide zero cards








